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Fonetion NoTation

Equations can be written in a form called function notation.
We use this as a quick way to evaluate functions for a given input.

xample | Y=2-8 | = |O(R) =2%-g

This is read asF O'F X Qci\fo q\S . -
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€B) ntnropoiogists use the length of certain bones of human skeleton to estimate the height of the living
person. One of these bones is the femur. To estimate the height in centimeters of a female with a
femur length of x, the function h(x) = 61.41 + 2.32x can be used.

a. Find h(46)




@ Given the graph of the function f{x), find each of the following.
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